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Ko a2 Y \/(0.5)2—(0'4)”10) _3[Lpaz|_ KB 4
k (10) T 412 7 KEcap 3
= 4025-016 = /009 = 0.3m 4. oA’
3 2
2. AK:}\,X&=57OOXM . Imdx:(Al+A2) :E:41
C 3)( 0 .o Imin (Al—A2)2 4
o
=19A
1 1 5 o= % =5 = 15 rad/sec?
R 2 _ ) 22
3 KE-ZmV—-me(A x?) ) :
1 Now 0 = O+§oct2 = EX 15 x (10)*> = 750 rad
at x = 0, K.E. =§mv2mX = Ema)zA2
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Here / = R, MK? = MR? = K =R

T2R+R2/2_R
= T=12m\ =~ =2my7g

2r?

= —(pP—0O
v on (p—-0)q
2]
Vo [P2—O
%_[19.5—1.5}
v, L[105-15
v, = 0.1 m/s
k = yr,

_ k_3.6x107

I, = o= 3 x 10m
y 1.2x10

1 1 1

F i f

The combination is convex; therefore F must
be positive. This is possible when f,>f . This
gives F greater than f,. So, the image will shift

away from the lens system.

teofi )

1 1 1
or g_(ls_l)(ﬁ_i—ﬁj

Solving, we get R = 4.5 cm.
Real depth  d

= Apparent depth x

T S SN
. Due to first liquid, x 1 \/E

1

d
Due to the second liquid, n = —
XZ

d
X, =—

27.

29.

31.

33.
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d
- Total apparent depth = x, + x, =$+H
d(n++/2)
== 5 NG

For first minimum, putting n =1 in the condition
for minima given as

dsin 6 =X
we obtain: dsin 6 =A ....(1)
x/2 X
h sin@=0=——=—_..(2
where D 2D 2)
From (1) and (2), we get ;
r_ox
d 2D
or
. 20D 2x(600x107)x2
d 107
= 2.4 mm
KE; = 1 KE
f = 4 i
1 1(1 2
— 2 - — | —mV,
) mV 1 [2 oj
VO
V=—
2
V=u+at (a=pug
VO
T Vi — ugt,
VO
ug t, = B
VO
K= 2gt,
4m m,
(m1+m2)2
m(gsin 30°)/¢
W=—"—7—7—"
2n?

If length AB = x
(mg sin 6 + umg cosO)x

mgx [24.“—/]
X X
3 1 1 1
- = — 4 —
\% v 2v 3v
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720 M 313
= = X
P, 3M/4 626

P, = 1080 kp,
39. For avoiding collision: v. < 0
Ur2 +2aS < 0 [IIl Eq. in of motion]
V-V, +2 (-a)d <0
(V,-V,))* < 2ad

16 16

d>—(Vl_vz)2
2a
40 E 1 E
L O ¥
_w 400
6 500
= W = 1.2 Kcal
41. HIHZ:uzsinzexuzcoszez(uZZSinecosej L:R_z

2g 2g g
- R°=16HH, = R = 4,/HH,

42. AQ = AW + dU

100 = 20 + dU
dU =801J
For Reverse
du, = -80
= AQ, = AW, _+ dU,
-20 = AW_- 80
AW _ =60 1J
f, <
43. F = f+f, B |—F
f, <
= 0.2 x 100 x g + 0.3(100+200)g
= 1100N

. 2
t

e oA(T, — Tt

0.4x5.67x1078x200%x10~* [800%=300%]
= 182 J/sec.

T sin30’

45.

2 kg.wt

T sin 30° =
T cos 30° =T,............. 2)
(D+(2)

2

T

1

T,=2./2 kg-wt.
46. Ph-CH,-O-Ph __HL , Ph—CH,-1+Ph-OH
50. Gabriel phthalamide synthesis is used for

tan30° =

preparation of aliphatic primary amines.

0
| oo
52. PhMg Br —<23 Ph—C -0 Mg Br

. 1
MO pPh—C-0OH

58. CH,CH,- Cl —¥% ,CH, -CH,-CN

— CH,CH,CH, — NH,

CH,CH, - CH, - NH - C - CH,

__ (] Ph-H

60. CH,COOH —s CH, - ¢ ATC,
¢}

Ph—C —CH,
g

lEt Mg Br, H,O

llit
Ph—( — CH,
OH
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o) s
v e
CH,~ ¢~ CH, = CH, ~ CH, - ¢~ CH,
o) o)
\

Gram amount of substance

No. of moles =

No. of atoms = no. of moles x N,

Gram amount is same for all M, is minimu for B(s)
n°=A-7

for S%
n°=35-16=19

If n=4
=0

then m = (only)

5e”+ 8H*+ MnO,—— Mn** + 4H,0

5 =D
2C

C- 10g
111g/mol x1L

Option 4" is of weak base remaining all are salts
of SAWB which have pH less than seven

1
1__
K=K

89.
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9s.
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118.
119.
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121.
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160.
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